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R=18.375 Q

B B 4.158X1000
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__7-58 —6_———7?L » B .
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s 8 T129. 584
(R B B B T AR
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X=1x,l=0.298X600 Q=178.8 O
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(2)3E U E R i ket B R B EERBOTR .

k, =1—%xobolz=l—%><0. 298X 3. 735X 107° X 600> =0. 8664

1
1—€<Iobo_rg

k. é°—)><zz

Zo
1

1—§(o. 298¢ 3. 735X 10~° —0. 026252 X

3.735X10°°
0. 296

I

) X600% =0. 9337

ky, —1+ xobol —l+ XO 298 3. 735X 107° X 600?=1. 0334
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R=k,r;1=0. 8664 0. 02625 X 600 0 =13. 646 0
X=k.z0l=0. 9337 X0. 298 X 600 0=166. 946
B=kybo1=1.0334X3. 735X 10~° X 600 S=23. 158 X 10~* S
CORBH R 5 A e
(€
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B BE A -
_ (ro+jxo>_\/o. 02625+0.298 . B .
S (go+ibo) N j3.735x10-° 1=283.01L—2.517° Q

7L =1.057 X107 /87. 483°X 600 =0. 6342/ 87. 483°
=0. 02785+j0. 6336 =z+jy
FIFHAR

sh(z+jy) = shzcosy-+jchzsiny
ch(z+jy)= chzcosy+jshxsiny

e sth%(e’—e_‘) ,chz=%(e’+e“’) K Y=z +iy BEAA

shyl =sh(0. 02785+0. 6336) = sho. 02785c0s0. 6336+ jch(0. 02785) sin0. 6336
=0. 02245+-j0. 59233 =0. 59266 ~87. 829°
ch¥l =ch(0. 027854-j0. 6336)
=ch(0. 02785) cos (0. 6336) +jsh(0. 02785)sin(0. 6336)
=0.80621+j0. 01649=0. 80638 1. 1717°
Z =Z.sh(71)=283.01/—2.517°X0. 59266_./87. 829° O
=167.72985. 312° Q=(13. 708+j167.169) Q

y =2xX[ch(rD—1]_ 2x[0. 80621+j0. 01649—1]
a = o 167. 729 /85. 312°

=(7.124X107%+j23. 19X107*) S
D=FEEF EFHRHEEEIRKGRY BINT — UMY G Z5M) Ui
%E%ﬁ%#ﬁﬁdx,%ﬁéﬁﬂﬁﬁxﬁﬁ?&%MﬁaﬁﬁﬂﬁﬁémﬁE%ﬂﬁﬁEe
2-4 A —1% SFL,-31500/35 &I 5 48 4 = 40745 [E 58, B 75 1, 35/11, & 1%
AP, =30 kW, I, %=1.29,AP,=177. 2 kW,Vs % =8, REEBS KB 25
EW A &1,

S

O HASMIRIMEMAWHTR, B0 Vs=8%5K Vs % =8 2 3 7R A 7] 1) 452 B L R L, 7 328 2
T Vs %, xR I B,
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APy . . 30 el .
7 X107 =35 X107 S=2.449X10* S

Io% SNA _3_1 2 31500 -3 — —5
T Vﬁxlo =Tos R oo ;<10 S=30.86x10"°S

APs V g J77.2:X 35°
R T

Vs Vi s 8 (35 3

100 ><SN><10 100><31500><10 0=3.11 Q

@QBPEIERENH S BB ERTEZLRE.

35
11

35
11

GT=

BT:

RT:

— X 10* Q=0.2188 O

Xr=

Gr=2. 449X 10~ x( ) S=2.479X10~* S

By =30. 86X 107 ><( )s=31.243><10—4s

11

Ry=0. 2188><(35

) 0=0.0216 Q
11
35

2-5 H—&HE K SFS-40000/220 M =AH =LA K4, FE N 100/
100/100, % E 45 H & 220/38. 5/11, 2548 AP, =46. 8 kW, 1, %=0.9,APsq.5 =217
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Veean %=6. ARPE I EMMEERSHALE.

& (1)%%2&&9%@%@
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Xr 311><( )Q=o.3o720

(APsn 2y +APsa3 —APsas))

2
%(217-{-200 7—158.6) kW=129. 55 kW
1;
APsz—f(APs(l-z) + APsi3 —APsas )
—12—(2174-158 6—200.7) kW=287.45 kW
APg —‘%(Apsq-s) + APsc3 —APsa2)
i

=5 (200. 7+158.6—217) kW=71.15 kW
APV . 129.55x220?
Sz X100 == 00007

APg V& . . 5 _ 87.45X220
—sz 10" =""Z50002

R, = X10* Q=3.919 Q

R,= X10° 0=2.645 Q
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OTEHBITH
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B H ok 100/100/66. 7,25 8, 1 $& 80 kW, ¥ B% Th & 850 kvar, 5 B #E APy =
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3 %

1
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R3=R2x2£z=3. 155x 22118 G—4. 246 @
Vs %6 =5 (Vsan %+ Vs % —Vsay %) =1 (11 55+21—8. 5) = 12. 025
Ve Y=o Vaan Y+ Vaan %— ~Vian %)= (11 5+8.5—21)=—0.475 -
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(2)HEF 35 kV S
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